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Reasoning Mega Quiz for SSC Tier-1 (Solutions)

S1. Ans.(a)
Sol.
05 2 ‘5“':.- 5 6.5

+1.5 +15 +15 +15

S2. Ans.(b)
Sol. Riya > Priya > Janvi > Ritika > Mohan

S3. Ans.(b)
Sol. Beguile — Begun — Bigamy — Bigot

S4. Ans.(a)
Sol. Except America other three are southeast Asian countries.

S5. Ans.(d)
Sol.
Zeba—— Julie ——Shahid™

oo

+ +
Yana—Zeeshan Akram

S6. Ans.(b)
Sol. Successive stags of plant fertilization.

S7. Ans.(b)
Sol. Aperture — Appeal — Appliance — Application |
S8. Ans.(c)

Sol. E>A>C SS C
And as A is second highest. Therefore E will be the highest. S U P R E M E

S9. Ans.(b) BOOKS PACK 2021
Sol. Pages either new or white but not both By ADDA247
=43 + 57

=100 TOTAL 7 BOOKS

1 | www.bankersadda.com www.sscadda.com | www.careerpower.in | www.adda247.com


http://www.bankersadda.com/
http://www.sscadda.com/
http://www.careerpower.in/
http://www.adda247.com/
https://www.adda247.com/product-books/8490/ssc-cgl-supreme-books-pack-2021-english-printed-edition-by-adda247

S$10. Ans.(b)
Sol. 11 triangles

S11. Ans.(b)
Sol.
H E

=
=
i
=
|
L
=
ot}
=
]

S12. Ans.(d)
Sol.

| v
BEAN——>ABNE
| : iy
S ALE——LSEA
| l T 4 T

~w» adda

i
S13. Ans.(d)
Sol.

GOAL — AGLO

BEAR — ABRE

SEND — NSDE
S14. Ans.(b)
Sol.

F —5 E D =5 C
A —=l5 B A —=5 B
v =L, U N —s M
o —Ls p ¢ 5 H
v =L 1 E —5 D
R —L R —5 s
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S15. Ans.(c)

Sol.

R —25 P
o —*
A —2, v
s 5, U
T —5 R
s —25 Q
L =23 N
0 —25 M
P 2, R
P —25 N
Y —25 A
S16. Ans.(a)
” adda
M —25 K
I —25 G
N —25 L
D —5 B
Similarly,
ARGUE — YPESC
D —23 B
1 =25 G
A =25 v
G —25 E
R —25 P
A 25 ¥
M —25 K
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S17. Ans.(d)
Sol.
+2

e

+—2}

+—2}

+—2}

+—2}

-

+—2}

;2)

== B v - I Y o W S -
o I > B SR - - R o T

+—2}

+—2}

+—2}

+—2}

+—2}

+—2}

;2}

;2}

A = I -~ B w B S s E
g0 49 moE A =

S18. Ans.(b)
Sol. The pattern is as follows:

E —— Q

U — T

addazayy D

addaayi

e 2, 100+ 930 CGL
Similarly,

8 —ls R Previous Years' Papers &

T -1 g Mock Tests Practice Book
_— - -
English Medium
+1
A —— B
+1 - Latest Edition Includes:
T ——— U , 10000+
® 18 Previous Year’s Papers 2019 Questions
I Mo chargd I ® 21 Previous Year’s Papers 2018 with Detailed
® 25 Previous Year's Papers 2017 Solutions
S ;1;_ T ® 22 Previous Year’s Papers 2016
® 15 Mock Tests of SSC CGL Tier-1
T +1 U Based on Latest Pattern
—_—
® Detailed Solutions of Quant, Previous
=1 English, Reasoning & GA Year Papers of
I —— H ® Also Useful for SSC CPO, CHSL, Last Four Years
MTS & Other Exams
c —1 . g
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S$19. Ans.(d)
Sol. The pattern is as follows:

B =23 7

E =25 C

-2

Q —— O

U =53 s

I =25 G

c —=25 A

N

Simllar'l},r,

L Ov E MY CO0O0OUMNTR Y

Zl -2 Zl Zl -2 Zi -2 -2 —Zl—El—El —Zl—Zi —21

G ] M TC KW AMSILU RPW

S20. Ans.(b)

Sol.

The pattern is as follows:

12345678 87 7 26 35 4

PHYSICAAL —=dy | P AHC |
+1l+ll+11+ll+ll a
MQBIDZ ] T

Similarly,

12345678 877 2 6 35 4

BREAKING-=s GBNRIEZKA
+1l+ll+ll+‘ll +11+1l +1l +ll
HCOS ] F LB

S21. Ans.(c)
Sol. Book contains pages as well as wall contains bricks.

S22. Ans.(c)
Sol.
l. A C
#2 *2 = 2 +d 1
Similarly, T V X : I K M N
¥ "-._.'-"""-...‘-"'-\.JT AN AN A
b2 wd &l +2 42 &1
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S23. Ans.(c)
Sol. 4 x5=20
And 8 x9 =72

S24. Ans.(d)
Sol. Plant is different from others.

S25. Ans.(d)
Sol. STU is different due to sequence of letter.

S26. Ans.(d)

Sol.
35— 51

==

So, there is not repeat letter.

S27. Ans.(a)

Sol. Correct order is —
1. Manifest
l
4. Merchant
l
3. Meridian
l

2. Meticulous

S28. Ans.(b)
Sol. M N OMMN O M M NOMMN O M

S29. Ans.(c)
Sol.
14=2-1=27
27=2—-2=52
52=2-3=101
101 = 2—-4=158

ENGLISH

198 x2-5=351

—

S30. Ans.(a)
Sol SSC CGL
From the family tree —

s

I l

i M* Ace - Advanced | Arithmetic | English
Q- Reasoning | General Awareness

= M is son of O. L.
Validity : 6 Months
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